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Substituting 1 for = gives 1 = 28 & B=%.Suhsﬁtuting—1forxgivesl=—2.—l & A=—3 Thus,
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y=0gives —12 = —64, 50 A = 2. Setting y = —2 gives 18 = 108,50 B = 2. Setting y = 3 gives 3 = 15C, 50 C' = £.
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get5z +3x — 2 = Ax(xr+2) + B(x +2) + Cz”. Set x = —2 to get C' = 3, and take

x = 0 to get B = —1. Equating the coefficients of z° gives 5 = A +C = A =2 So
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gives 1 = 164, so A = L Now compare coefficients.
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Multiply = 3 by (u+ 2)(u — 2) to get 1 = A(u — 2) + B(u + 2). Equating coefficients we
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get A+ B=0and —24 + 2B = 1. Solving givesus B = ; and A = —3
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45. If we were to substitute 1 = v/, then the square root would disappear but a cube root would remain. On the other hand, the
substitution u = v/z would eliminate the cube root but leave a square root. We can eliminate both roots by means of the
substitution « = v/z. (Note that € 1s the least common multiple of 2 and 3.)

Let u = v/z. Then x = u°, s0 dx = 6u® du and vz = v®, Vz = u®. Thus,

dx 6u® du u® u?
f\/__ V= fu3—1¢2 fuz(u—l) “ fu—l “

=Bf(u +u—|—1—|——1) du [by long division]

U —

—6(1u’ + 1w +utlnfu—1)) +C =2vz+3Vz +6 Vo +6ln|Vz—1|+C
z% +1 3r+1
63. By long division, T -1+ et Now

3x+1 3x+1 A B 10
T T ia—n =3 iy = +1=AB-2)+Br Setz=3togetl0=3858 =1 Stz =0t
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